Panaji, 18th September, 2025 (Bhadra 27, 1947)

**SERIES I No. 25** 

Date: 16-Sep-2025

# OFFICIAL GAZETTE GOVERNMENT OF GOA

PUBLISHED BY AUTHORITY

# **EXTRAORDINARY**

# **GOVERNMENT OF GOA**

#### **Department of Finance**

Revenue and Control Division

#### **Notification**

1-174-2020-21/DSSL/VOL.II/29151

In exercise of the powers conferred by rule 6 of the Goa Lotteries (Regulation) Rules, 2003, and rule 3 of the Lotteries (Regulation) Rules, 2010, read with Section 21 of the General Clauses Act, 1897 (Act 10 of 1897), the Government of Goa hereby rescinds the following Government Notifications with effect from 06-10-2025, namely:—

- (1) 1-174-2020-21/DSSL/Vol.II/28324 dated 29th May, 2025, published in the Official Gazette, Extraordinary, Series I No. 9 dated 2nd June, 2025.
- (2) 1-174-2020-21/DSSL/Vol.II/28325 dated 29th May, 2025, published in the Official Gazette, Extraordinary, Series I No. 9 dated 2nd June, 2025.
- (3) 1-174-2020-21/DSSL/Vol.II/28326 dated 29th May, 2025, published in the Official Gazette, Extraordinary, Series I No. 9 dated 2nd June, 2025.
- (4) 1-174-2020-21/DSSL/Vol.II/28327 dated 29th May, 2025, published in the Official Gazette, Extraordinary, Series I No. 9 dated 2nd June, 2025.
- (5) 1-174-2020-21/DSSL/Vol.II/28328 dated 29th May, 2025, published in the Official Gazette, Extraordinary, Series I No. 9 dated 2nd June, 2025.
- (6) 1-174-2020-21/DSSL/Vol.II/28329 dated 29th May, 2025, published in the Official Gazette, Extraordinary, Series I No. 9 dated 2nd June, 2025.

(7) 1-174-2020-21/DSSL/Vol.II/28330 dated 29th May, 2025, published in the Official Gazette, Extraordinary, Series I No. 9 dated 2nd June, 2025.

By order and in the name of the Governor of Goa.

Naresh Gaude, Under Secretary, Finance (R&C).

# Notification

1-174-2020-21/DSSL/VOL-II/29152

In exercise of the powers conferred by rule 6 of the Goa Lotteries (Regulation) Rules, 2003, and rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Goa hereby frames the following weekly lottery scheme, namely:-

#### **DEPARTMENT OF FINANCE (REVENUE & CONTROL DIVISION)**

(a) The name of the lottery or lottery scheme : RAJSHREE NIGHT SOM WEEKLY LOTTERY

(b) MRP of each ticket : Rs. 10/-

(c) Draw No. : 1 & onwards

(d) Date of Draw : 06-10-2025 & onwards

(e) Draw Time : 09.00 p.m. onwards

(f) Total number of tickets printed in case of : 10,00,000 (Ten Lakh)

paper lottery : Series: 00-99 Numbering: 0000 – 9999

(g) MRP value of the tickets printed : Rs. 1,00,00,000/- (Rs. One Crore only)

(h) Face value (MRP Less GST) : Rs. 78,12,500/- (Rupees Seventy Eight Lakh Twelve

Thousand Five Hundred only)

(i) Name or names of the distributors or selling agents with their addresses and contact information

Sole Purchaser: M/s Summit Online Trade Solutions Pvt. Ltd., G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001. E-mail: <a href="mailto:contact@sugaldamani.com">contact@sugaldamani.com</a>

Area Distributor: M/s Serenity Trades Pvt. Ltd., Maharashtra, Punjab, Sikkim and Goa

(i) Prize Structure:

RANK	No. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1st	100	10,000	10,00,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
2nd	100	5,000	5,00,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
3rd	100	500	50,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
4th	100	300	30,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
5th	100	200	20,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
6th	39000	100	39,00,000	ON 390 TIMES ON 4 DIGITS WITHOUT SERIES.
TOTAL	39500		55,00,000	

(k) The amount offered as prize money : As mentioned above

(1) Periodicity of the draw : Weekly - Every Monday

(m) The place where the draw shall be conducted:

Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa

(n) Printing of tickets

Printing of tickets will be done by the Office of the Directorate of Goa State Lotteries. The Distributor will convey the number of tickets and quantity required to be printed as per the market condition.

- (o) The procedure for drawing the prize winning tickets or prize winners: As mentioned above. Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (p) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.
- (q) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.
- (r) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (s) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series, QR Code or Bar Code. The Distributor will provide QR Code/Bar Code to be printed on the tickets to enhance the security feature of the tickets.

*Note*: Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.

This Notification shall come into force on the date of its publication in the Official Gazette.

By order and in the name of the Governor of Goa.

Naresh Gaude, Under Secretary, Finance (R&C).

Notification

1-174-2020-21/DSSL/VOL.II/29153

In exercise of the powers conferred by rule 6 of the Goa Lotteries (Regulation) Rules, 2003, and rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Goa hereby frames the following weekly lottery scheme, namely:-

# DEPARTMENT OF FINANCE (REVENUE & CONTROL DIVISION)

(a) The name of the lottery or lottery scheme : RAJSHREE NIGHT MANGAL WEEKLY LOTTERY

(b) MRP of each ticket : Rs. 10/-

Date: 16-Sep-2025

(c) Draw No. : 1 & onwards

(d) Date of Draw : 07-10-2025 & onwards

(e) Draw Time : 09.00 p.m. onwards

(f) Total number of tickets printed in case of : 10,00,000 (Ten Lakh)

paper lottery : Series: 00-99 Numbering: 0000 – 9999

(g) MRP value of the tickets printed : Rs. 1,00,00,000/- (Rs. One Crore only)

(h) Face value (MRP Less GST) : Rs. 78,12,500/- (Rupees Seventy Eight Lakh Twelve

Thousand Five Hundred only)

(i) Name or names of the distributors or selling agents with their addresses and contact information

Sole Purchaser: M/s Summit Online Trade Solutions Pvt. Ltd., G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001. E-mail: <a href="mailto:contact@sugaldamani.com">contact@sugaldamani.com</a>

Area Distributor: M/s Serenity Trades Pvt. Ltd., Maharashtra, Punjab, Sikkim and Goa

(i) Prize Structure:

RANK	No. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1st	100	10,000	10,00,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
2nd	100	5,000	5,00,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
3rd	100	500	50,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
4th	100	300	30,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
5th	100	200	20,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
6th	39000	100	39,00,000	ON 390 TIMES ON 4 DIGITS WITHOUT SERIES.
TOTAL	39500		55,00,000	

(k) The amount offered as prize money : As mentioned above

(1) Periodicity of the draw : Weekly - Every Tuesday

(m) The place where the draw shall be conducted:

Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa

(n) Printing of tickets

- (o) The procedure for drawing the prize winning tickets or prize winners: As mentioned above. Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (p) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.

- (q) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.
- (r) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (s) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series, QR Code or Bar Code. The Distributor will provide QR Code/Bar Code to be printed on the tickets to enhance the security feature of the tickets.

*Note*: Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.

This Notification shall come into force on the date of its publication in the Official Gazette.

By order and in the name of the Governor of Goa.

Naresh Gaude, Under Secretary, Finance (R&C).

# Notification

1-174-2020-21/DSSL/VOL.II/29154

In exercise of the powers conferred by rule 6 of the Goa Lotteries (Regulation) Rules, 2003, and rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Goa hereby frames the following weekly lottery scheme, namely:-

# **DEPARTMENT OF FINANCE (REVENUE & CONTROL DIVISION)**

(a) The name of the lottery or lottery scheme : RAJSHREE NIGHT BUDH WEEKLY LOTTERY

(b) MRP of each ticket : Rs. 10/-

(c) Draw No. : 1 & onwards

(d) Date of Draw : 08-10-2025 & onwards

(e) Draw Time : 09.00 p.m. onwards

(f) Total number of tickets printed in case of : 10,00,000 (Ten Lakh)

paper lottery : Series: 00-99 Numbering: 0000 – 9999

(g) MRP value of the tickets printed : Rs. 1,00,00,000/- (Rs. One Crore only)

(h) Face value (MRP Less GST) : Rs. 78,12,500/- (Rupees Seventy Eight Lakh Twelve

Thousand Five Hundred only)

(i) Name or names of the distributors or selling agents with their addresses and contact information

Sole Purchaser: M/s Summit Online Trade Solutions Pvt. Ltd., G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001. E-mail: <a href="mailto:contact@sugaldamani.com">contact@sugaldamani.com</a>

Area Distributor: M/s Serenity Trades Pvt. Ltd., Maharashtra, Punjab, Sikkim and Goa

(i) Prize Structure:

RANK	No. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1st	100	10,000	10,00,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
2nd	100	5,000	5,00,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
3rd	100	500	50,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
4th	100	300	30,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
5th	100	200	20,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
6th	39000	100	39,00,000	ON 390 TIMES ON 4 DIGITS WITHOUT SERIES.
TOTAL	39500		55,00,000	

(k) The amount offered as prize money : As mentioned above

(l) Periodicity of the draw : Weekly - Every Wednesday

(m) The place where the draw shall be conducted:

Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa

(n) Printing of tickets

Printing of tickets will be done by the Office of the Directorate of Goa State Lotteries. The Distributor will convey the number of tickets and quantity required to be printed as per the market condition.

- (o) The procedure for drawing the prize winning tickets or prize winners: As mentioned above. Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (p) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.
- (q) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.
- (r) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (s) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series, QR Code or Bar Code. The Distributor will provide QR Code/Bar Code to be printed on the tickets to enhance the security feature of the tickets.

*Note*: Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.

This Notification shall come into force on the date of its publication in the Official Gazette.

By order and in the name of the Governor of Goa.

Naresh Gaude, Under Secretary, Finance (R&C).

#### Notification

1-174-2020-21/DSSL/VOL.II/29155

In exercise of the powers conferred by rule 6 of the Goa Lotteries (Regulation) Rules, 2003, and rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Goa hereby frames the following weekly lottery scheme, namely:-

#### DEPARTMENT OF FINANCE (REVENUE & CONTROL DIVISION)

(a) The name of the lottery or lottery scheme : RAJSHREE NIGHT GURU WEEKLY LOTTERY

(b) MRP of each ticket : Rs. 10/-

(c) Draw No. : 1 & onwards

(d) Date of Draw : 09-10-2025 & onwards

(e) Draw Time : 09.00 p.m. onwards

(f) Total number of tickets printed in case of : 10,00,000 (Ten Lakh)

paper lottery : Series: 00-99 Numbering: 0000 – 9999

(g) MRP value of the tickets printed : Rs. 1,00,00,000/- (Rs. One Crore only)

(h) Face value (MRP Less GST) : Rs. 78,12,500/- (Rupees Seventy Eight Lakh Twelve

Thousand Five Hundred only)

(i) Name or names of the distributors or selling agents with their addresses and contact information

Sole Purchaser: M/s Summit Online Trade Solutions Pvt. Ltd., G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001. E-mail: <a href="mailto:contact@sugaldamani.com">contact@sugaldamani.com</a>

Area Distributor: M/s Serenity Trades Pvt. Ltd., Maharashtra, Punjab, Sikkim and Goa

(i) Prize Structure:

RANK	No. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1st	100	10,000	10,00,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
2nd	100	5,000	5,00,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
3rd	100	500	50,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
4th	100	300	30,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
5th	100	200	20,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
6th	39000	100	39,00,000	ON 390 TIMES ON 4 DIGITS WITHOUT SERIES.
TOTAL	39500		55,00,000	

(k) The amount offered as prize money : As mentioned above

(1) Periodicity of the draw : Weekly - Every Thursday

(m) The place where the draw shall be conducted:

Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa

(n) Printing of tickets

Printing of tickets will be done by the Office of the Directorate of Goa State Lotteries. The Distributor will convey the number of tickets and quantity required to be printed as per the market condition.

- (o) The procedure for drawing the prize winning tickets or prize winners: As mentioned above. Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (p) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.
- (q) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.
- (r) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (s) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series, QR Code or Bar Code. The Distributor will provide QR Code/Bar Code to be printed on the tickets to enhance the security feature of the tickets.

*Note*: Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.

This Notification shall come into force on the date of its publication in the Official Gazette.

By order and in the name of the Governor of Goa.

Naresh Gaude, Under Secretary, Finance (R&C).

Notification

1-174-2020-21/DSSL/VOL.II/29156

In exercise of the powers conferred by rule 6 of the Goa Lotteries (Regulation) Rules, 2003, and rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Goa hereby frames the following weekly lottery scheme, namely:-

# **DEPARTMENT OF FINANCE (REVENUE & CONTROL DIVISION)**

(a) The name of the lottery or lottery scheme : RAJSHREE NIGHT SHUKRA WEEKLY LOTTERY

(b) MRP of each ticket : Rs. 10/-

(c) Draw No. : 1 & onwards

(d) Date of Draw : 10-10-2025 & onwards

(e) Draw Time : 09.00 p.m. onwards

(f) Total number of tickets printed in case of : 10,00,000 (Ten Lakh)

paper lottery : Series: 00-99 Numbering: 0000 – 9999

Date: 16-Sep-2025

(g) MRP value of the tickets printed

: Rs. 1,00,00,000/- (Rs. One Crore only)

(h) Face value (MRP Less GST)

: Rs. 78,12,500/- (Rupees Seventy Eight Lakh Twelve

Thousand Five Hundred only)

(i) Name or names of the distributors or selling agents with their addresses and contact information

Sole Purchaser: M/s Summit Online Trade Solutions Pvt. Ltd., G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001. E-mail: <a href="mailto:contact@sugaldamani.com">contact@sugaldamani.com</a>

Area Distributor: M/s Serenity Trades Pvt. Ltd., Maharashtra, Punjab, Sikkim and Goa

(i) Prize Structure:

RANK	No. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1st	100	10,000	10,00,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
2nd	100	5,000	5,00,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
3rd	100	500	50,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
4th	100	300	30,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
5th	100	200	20,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
6th	39000	100	39,00,000	ON 390 TIMES ON 4 DIGITS WITHOUT SERIES.
TOTAL	39500		55,00,000	

(k) The amount offered as prize money : As mentioned above

(1) Periodicity of the draw : Weekly - Every Friday

(m) The place where the draw shall be conducted:

Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa

(n) Printing of tickets

- (o) The procedure for drawing the prize winning tickets or prize winners: As mentioned above. Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (p) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.
- (q) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.
- (r) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.

(s) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series, QR Code or Bar Code. The Distributor will provide QR Code/Bar Code to be printed on the tickets to enhance the security feature of the tickets.

*Note*: Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.

This Notification shall come into force on the date of its publication in the Official Gazette.

By order and in the name of the Governor of Goa.

Naresh Gaude, Under Secretary, Finance (R&C).

Notification

1-174-2020-21/DSSL/VOL-II/29157

In exercise of the powers conferred by rule 6 of the Goa Lotteries (Regulation) Rules, 2003, and rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Goa hereby frames the following weekly lottery scheme, namely:-

# DEPARTMENT OF FINANCE (REVENUE & CONTROL DIVISION)

(a) The name of the lottery or lottery scheme : RAJSHREE NIGHT SHANI WEEKLY LOTTERY

(b) MRP of each ticket : Rs. 10/-

(c) Draw No. : 1 & onwards

(d) Date of Draw : 11-10-2025 & onwards

(e) Draw Time : 09.00 p.m. onwards

(f) Total number of tickets printed in case of : 10,00,000 (Ten Lakh)

paper lottery : Series: 00-99 Numbering: 0000 – 9999

(g) MRP value of the tickets printed : Rs. 1,00,00,000/- (Rs. One Crore only)

(h) Face value (MRP Less GST) : Rs. 78,12,500/- (Rupees Seventy Eight Lakh Twelve

Thousand Five Hundred only)

(i) Name or names of the distributors or selling agents with their addresses and contact information

Sole Purchaser: M/s Summit Online Trade Solutions Pvt. Ltd., G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001. E-mail: <a href="mailto:contact@sugaldamani.com">contact@sugaldamani.com</a>

Area Distributor: M/s Serenity Trades Pvt. Ltd., Maharashtra, Punjab, Sikkim and Goa

(i) Prize Structure:

RANK	No. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1st	100	10,000	10,00,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
2nd	100	5,000	5,00,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.

(EXTRAORDINARY) 18TH SEPTEMBER, 2025

3rd	100	500	50,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
4th	100	300	30,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
5th	100	200	20,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
6th	39000	100	39,00,000	ON 390 TIMES ON 4 DIGITS WITHOUT SERIES.
TOTAL	39500		55,00,000	

(k) The amount offered as prize money : As mentioned above

(1) Periodicity of the draw : Weekly - Every Saturday

(m) The place where the draw shall be conducted:

Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa

(n) Printing of tickets

Printing of tickets will be done by the Office of the Directorate of Goa State Lotteries. The Distributor will convey the number of tickets and quantity required to be printed as per the market condition.

- (o) The procedure for drawing the prize winning tickets or prize winners: As mentioned above. Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (p) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.
- (q) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.
- (r) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (s) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series, QR Code or Bar Code. The Distributor will provide QR Code/Bar Code to be printed on the tickets to enhance the security feature of the tickets.

*Note*: Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.

This Notification shall come into force on the date of its publication in the Official Gazette.

By order and in the name of the Governor of Goa.

*Naresh Gaude*, Under Secretary, Finance (R&C).

#### Notification

1-174-2020-21/DSSL/VOL.II/29158

In exercise of the powers conferred by rule 6 of the Goa Lotteries (Regulation) Rules, 2003, and rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Goa hereby frames the following weekly lottery scheme, namely:-

Date: 16-Sep-2025

# **DEPARTMENT OF FINANCE (REVENUE & CONTROL DIVISION)**

(a) The name of the lottery or lottery scheme : RAJSHREE NIGHT RAVI WEEKLY LOTTERY

(b) MRP of each ticket : Rs. 10/-

(c) Draw No. : 1 & onwards

(d) Date of Draw : 12-10-2025 & onwards

(e) Draw Time : 09.00 p.m. onwards

(f) Total number of tickets printed in case of : 10,00,000 (Ten Lakh)

paper lottery : Series: 00-99 Numbering: 0000 – 9999

(g) MRP value of the tickets printed : Rs. 1,00,00,000/- (Rs. One Crore only)

(h) Face value (MRP Less GST) : Rs. 78,12,500/- (Rupees Seventy Eight Lakh Twelve

Thousand Five Hundred only)

(i) Name or names of the distributors or selling agents with their addresses and contact information

Sole Purchaser: M/s Summit Online Trade Solutions Pvt. Ltd., G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001. E-mail: <a href="mailto:contact@sugaldamani.com">contact@sugaldamani.com</a>

Area Distributor: M/s Serenity Trades Pvt. Ltd., Maharashtra, Punjab, Sikkim and Goa

(i) Prize Structure:

RANK	No. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1st	100	10,000	10,00,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
2nd	100	5,000	5,00,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
3rd	100	500	50,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
4th	100	300	30,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
5th	100	200	20,000	ON 1 TIME ON 4 DIGITS WITHOUT SERIES.
6th	39000	100	39,00,000	ON 390 TIMES ON 4 DIGITS WITHOUT SERIES.
TOTAL	39500		55,00,000	

(k) The amount offered as prize money : As mentioned above

(1) Periodicity of the draw : Weekly - Every Sunday

(m) The place where the draw shall be conducted:

Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa

(n) Printing of tickets

# OFFICIAL GAZETTE — GOVT. OF GOA (EXTRAORDINARY)

- (o) The procedure for drawing the prize winning tickets or prize winners: As mentioned above. Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (p) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.
- (q) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.
- (r) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (s) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series, QR Code or Bar Code. The Distributor will provide QR Code/Bar Code to be printed on the tickets to enhance the security feature of the tickets.

Note: Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.

This Notification shall come into force on the date of its publication in the Official Gazette.

By order and in the name of the Governor of Goa.

Naresh Gaude, Under Secretary, Finance (R&C).

# **Notification**

1-174-2021-22/DSSL/PART-IV/29254

In exercise of the powers conferred by rule 6 of the Goa Lotteries (Regulation) Rules, 2003, and rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Goa hereby frames the following special lottery scheme, namely:-

#### RAJSHREE DIWALI SPECIAL LOTTERY

# 1<sup>st</sup> DRAW ON 30.10.2025 (THURSDAY)

RANK	No. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1st	1	1,11,11,111	1,11,11,111	ON 1 TIME ON 6 DIGITS WITH SERIES.
2nd	1	5,00,000	5,00,000	ON 1 TIME ON 6 DIGITS WITH SERIES ON REMAINING SERIES OF 1ST PRIZE WINNING NO.
3rd	80	1,00,000	80,00,000	ON 2 TIMES ON LAST 4 DIGITS WITHOUT SERIES.
4th	800	5,000	40,00,000	ON 20 TIMES ON LAST 4 DIGITS WITHOUT SERIES.
5th	800	2,500	20,00,000	ON 20 TIMES ON LAST 4 DIGITS WITHOUT SERIES.
6th	800	1,000	8,00,000	ON 20 TIMES ON LAST 4 DIGITS WITHOUT SERIES.
7th	28000	600	1,68,00,000	ON 700 TIMES ON LAST 4 DIGITS WITHOUT SERIES.
TOTAL	30482		4,32,11,111	

Date: 18-Sep-2025

(a) The name of the lottery or lottery scheme : RAJSHREE DIWALI SPECIAL LOTTERY

(b) MRP of each ticket : Rs. 300/-

(c) Draw No. : 1

(d) Date of Draw : 30-10-2025

(e) Draw Time : 06.30 p.m. onwards

(f) Total number of tickets printed in case of : 4,00,000 (Four Lakh)

paper lottery : Series: A & B Numbering: 200000 – 399999

(g) MRP value of the tickets printed : Rs. 12,00,00,000/- (Rs. Twelve Crore only)

(h) Face value (MRP Less GST) : Rs. 9,37,50,000/- (Rupees Nine Crore Thirty Seven

Lakh Fifty Thousand only)

(i) Name or names of the distributors or selling agents with their addresses and contact information

Sole Purchaser: M/s Summit Online Trade Solutions Pvt. Ltd., G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001. E-mail: <a href="mailto:contact@sugaldamani.com">contact@sugaldamani.com</a>

Area Distributor: M/s Serenity Trades Pvt. Ltd., Maharashtra, Punjab, Sikkim and Goa

(j) The amount offered as prize money : As mentioned above

(k) Periodicity of the draw : Special draw

(l) The place where the draw shall be conducted:

Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa

(m)Printing of tickets

- (n) The procedure for drawing the prize winning tickets or prize winners: As mentioned above. Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (o) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.
- (p) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs. 10,000/- on behalf of Government of Goa.
- (q) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, The Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (r) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series, QR Code or Bar Code. The Distributor will provide QR Code/Bar Code to be printed on the tickets to enhance the security feature of the tickets.

*Note*: Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw time by means of electronic media or internet or physically.

This Notification shall come into force on the date of its publication in the Official Gazette.

By order and in the name of the Governor of Goa.

Naresh Gaude, Under Secretary, Finance (R&C).

www.goaprintingpress.gov.in
Published by the Director, Printing & Stationary,
Government Printing Press,
Mahatma Gandhi Road, Panaji-Goa 403 001.